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CHAPTER 1: INTRODUCTION TO TAX LAW
In SA most of our taxes are levied by the central government.  TAX is a main source of revenue for the government.  According to the constitution provinces also have certain taxation powers.  
The SA tax system in the past:  up until the 1 January 2001 the SA tax system was source based. This means that any revenue that you received from a source within SA would be taxed.  This is irrespective of your citizenship- as long as you received money from SA you were taxed.  
Our current system:  taxation is resident based.  This means that if you are a resident of SA you will be paying SA taxes regardless of where your income comes from.  If you are a non-resident (a foreigner) you will only be taxed if the source of the income is in SA.  
The reason for the above transition: firstly SA was reunited into the global market place.  There is a trend in the world to adopt the residence based taxation.  There are only 4 countries in the world that apply the source based system.  Secondly our foreign exchange regulations were relaxed and this meant that a lot of people under the source based system could switch the source to another country and avoid the tax.  As a result of this transition a new definition was developed to calculate the taxable income of individuals and companies.  Now you will be taxed on your world -wide income if you are a resident, and if you are not a resident you will pay tax if the source of the income is in SA.  
For a long time married couples were taxed as a single unit.  With the introduction of the constitution and the right of equality (section 9), each individual is taxed separately.  Tax is calculated on an individual basis.  
Principles of taxation: there are 4 that exist
· EQUALITY:  all citizens of a government must contribute towards supporting the government.
· CERTAINTY:  as an individual you have a right to know when your taxes will be due, and the amount that you are expected to pay.  
· CONVENIENCE:  tax needs to be levied at a time when it is most convenient for the tax payer.  
· ECONOMY:  theoretically tax is supposed to take as little as possible out of the pockets of the tax payer.  


Tax may be levied on the following…
There are 4 things upon which tax may be levied:
1. Your income
2. Consumption (VAT)- VAT is included on all commodities
3. Your wealth- in cases where people own more than one property
4. Various other forms- stamp duties, provisional taxes, and business tax
Two ways in which to levy tax:
1. Direct tax
· Income tax (aka normal tax): s 5.1 of the Income Tax Act (ITA) places a duty on every resident to pay normal taxes. These taxes are fixed by parliament on an annual basis. These are paid by individuals and by juristic persons.  You will pay tax on your taxable income defined in S 1 of the ITA. 
One of three rates will apply:  
· Proportional rates: anybody who makes R140 000 or less per year will only pay 18% tax on that income.
· Progressive rates:  the more you earn the more you pay. In the budget review in your study guide you can see an example of progressive rates.  
· Regressive rates:   this rate stays constant (for instance VAT is always at 14%). A company pays 28% tax and that is constant.  
Employment tax: your employer automatically deducts tax from your salary every month so that at the end of the year you don’t have to pay a huge amount of tax.  
Provisional tax:  usually applies to companies and close corporations.  They need to pay huge amounts of tax so SARS breaks it down for them into two parts.  So every 6 months they provisional tax and in this way you make sure that they are able to pay the taxes.
· Capital gains tax (CGT):  if you are a company or an individual and you own 2/3 houses and decide to sell one of them, which are not your primary residence, and then you will pay capital gains tax on any profit that you make.  If you are an individual you will pay 10% on the profit, if you are a company you will pay 14% on the profit, and if you are a trust you will pay 20% on the profit. This only came into effect in 2001.  (It is for immovable property)

· Secondary Tax on Companies (STC):  companies declare dividends and this is the tax on the dividends declared.  It is also for any distribution made by a CC.  At present the company is the one who is taxed and not the person receiving the dividends.  The rate is 10% on the dividend declared.  At the end of 2010 they want to replace STC with a dividend tax that places the burden on the person receiving the dividend.  STC is regulated by section 64 B and 64 C of the ITA.

· Donation tax:  this is regulated by section 54 of the ITA.  A donation is basically a gift, and is paid by the donor (the person making the donation).  If it is an individual making a donation then you can make a donation without being taxed provided it is under R100 000 a year.  Anything above this will be taxed at a rate of 20%.  If you are a juristic person then only the first R10 000 will be free of tax, and anything above this will be taxed by 20%.


2. Indirect tax:


For individuals your tax year begins in March.  
For juristic persons the tax year (year of assessment) will be the same as your financial year.  

Interpretation of the ITA:  if you are interpreting any income tax question you are going to have to look at case law and the act itself.  We only have one ITA with its various amendments and then there is also a VAT Act and CGT Act.  There are specific tax courts with abbreviation SATC (South African Tax Case).  The courts do not have the same jurisdiction as a high court.   These courts are bound by whatever the high court says, but they are not bound by their own previous decisions (they can change their minds).  
Study guide at the end of chapter 1:  There is a procedure that needs to be followed in a tax dispute.  
1. Appeal to the special board
2. Tax Court
3. High court
In tax law we don’t often refer to foreign decision because each country has their own tax system.  The court may read it and consider it but it holds limited value.  
Rules of interpretation:  there are basically 4 rules
1. Hardship is no criteria- if you interpret the ITA and it places a heavy burden on the tax payer then that’s tough luck.  
2. The literal meaning of the act must be applied.
3. You must ascertain and give effect to the intention of the legislature.
4. Apply the contra fiscum rule- if there is more than one way to interpret a section of the act then you must follow the interpretation which will be the most beneficial for the tax payer.  
Practice notes:  because it is such a complex field of law people have started making comments on certain sections, and these notes are submitted to SARS. If SARS agree with them they publish them as practice notes.  It may help you to understand the section better. It is not legislation so it has persuasive value in court but they are not binding.  

Abbreviations: depends on how old the case is
· CIR: commissioner of inland revenue
· KBI: Komisaris van binnelandse inkomste
· SIR: secretary for internal revenue

Calculation of income tax:  the gross income formula is found in the study guide in chapter one and you need to know this off by heart.  
Tax disputes:  If you get sent a tax assessment that tells you how much you owe to SARS and you disagree with this then you must still pay the amount.  Only after this can you take them to court.  PAY NOW ARGUE LATER.  If they are wrong, which they seldom are, you have to pay them.  This is according to section 88 of ITA. An amendment has been proposed to this section:  
1. Just because a case is pending it doesn’t mean you must not pay.
2. The commissioner has got the discretion to suspend your payment until the dispute is resolved. He can revoke this discretion if there arises a collection risk if the tax payer is sequestrated or liquidated, if the tax payer has no arguable case or if he suspects the tax payer of fraud.  

· In the past if SARS admitted to a mistake then interest only runs from the date of the appeal.  With the amendment they will have to pay you interest from the day that you actually made payment.  Thus you don’t lose out in any way.  
People at SARS have to take an oath of secrecy because they have access to all your financial information. The secrecy provision is in terms of section 4 of ITA.  When there is a dispute in court the SARS employees are called in as witnesses.  In a court case may an employee of SARS reveal your tax information?  
· Delete Malta Coal in study guide and class notes are sufficient for these cases.
Weltz v Hall
The court had to decide whether you can basically force or demand an employee of SARS to disclose tax information?  Firstly the court will be most reluctant to order the disclosure of tax information if such information may be obtained elsewhere.  Secondly a revenue officer is a witness of last resort.  Thirdly any tax information that the applicant wants must be material to their case- it must make or break the case.  You have to find a balance between the competing interests of the litigants and SARS.  The court found against the applicant for an order of disclosure because the tax information was not material to the matter at hand.  
Receiver of Revenue v Van De Meyer
VDM was appointed by the state president to be the head of a commission of enquiry into the financial affairs of Leborwa.  VDM said that the only way he could do this was to access the tax records of Leborwa.  The legal representatives of Leborwa said that this was not allowed due to the secrecy provision.  The court held that you cannot expect the commission whose sole purpose is to investigate the financial affairs to do this effectively without access to financial records.  It also said that it has the discretion to relax section 4 of the ITA in order to allow disclosure.  In this case it was a question of what would be in the best interest of the public to ensure there are no financial irregularities.  VDM was allowed access to the information.
Jeeva v CIR
Two companies were in liquidation (in the process of sequestration), and an employee of SARS was called before the court and asked to disclose certain tax information.  Courts will generally be slow to order the disclosure of tax information.  However there is the discretion to order disclosure.  Policy considerations will play an important role in the court’s decision.  Any tax information that was disclosed to the court could not be used to the disadvantage of the taxpayer- they are already in liquidation.  Whatever information was given could not be used any more.  Thus the court allowed the disclosure of information.  
Motsepe v CIR
SARS had started sequestration proceedings against a specific tax payer.  The tax payer said that what SARS was doing was unconstitutional, and that SARS should suspend the sequestration until the tax payer was able to get to the CC and let them decide on the matter.  The CC held:  SARS did not have to suspend the sequestration and that it was not going to decide on the constitutionality issue because the tax payer did not follow the correct process (NB the diagram in study guide).  She had not exhausted the other remedies available to her.  
· Tax is such a specialized field and most judges do not have the specialized knowledge to make certain decisions.  
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Chapter 2
Gross Income
1. Calculation of taxable income
· Gross income				Rxxx
· Less: 	Exempt income 			 xx
= 	Income				xx
· Less: 	Allowable deductions		xx
=	Taxable income			xx

Requirement 1: Residency
2. Definition of gross income
· In case of a resident: if resident of SA will be taxed on world-wide income; car property, anything you can ascribe a value to.
· In the case of a non-resident: you will be taxed from any cash or amount you receive from a source within the Republic
3. Requirements of definition
· When is a person a “resident”?
4. Who is a resident?
· 2 ways in which to determine (according to Income Tax Act):
· “Ordinary residence test”
· “Physically presence tax”
· Must apply either/or test, not both.
TEST 1: ORDINARY RESIDENCE TEST
· Where is this person’s place of permanent residence?
· Even if outside SA but have intention of returning to SA, then this test will have been met.
· Definition of resident has 2 components:
· Any person ordinarily residing in the Republic;
· In the case of juristic persons; businesses that are incorporated, established, formed or has place of effective management in the Republic.
· Effective management: day-to-day running of business operations.
· Courts have laid down 5 principles to clarify the term “ordinarily residing”:
· If it is part of a person’s normal way of living to stay at a specific place with a degree of permanency, then that person must be deemed to be “ordinarily residing” at that place;
· A person is “ordinarily residing” in the country to which he normally returns after his roaming e.g. gap years, backpackers;
· A person can be “ordinarily residing” in a country even if he is physically absent during a year of assessment;
· A person is “ordinarily residing” where his permanent home is or where his possessions are stored;
· You must be very careful when looking at the term “home” or “residence”, it can’t be something informal or temporary, it must be certain.
TEST 2: PHYSICALLY PRESENT TEST (notes in SG, outdated, refer to these notes)
· The person is not “ordinarily residing” in SA but he is “physically present” in SA for a specific number of days e.g. a foreigner, working for a foreign company in SA.  Must consider the following:
· In the year of assessment (YoA), he must’ve been “physically present” in SA for 91 days;
· For the previous 5 years (from 2005), must have been “physically present” in SA for 91 days in each year;
· In the previous 5 years, the days that the person was  “physically present” must add up to 915 days.
· If falls short of even one requirement, fails to meet the “physically present” requirement.
· If passes one, must continue to the next step.

5. How can you lose your residency?
· E.g. if SA resident and decide to take a gap year, if you are absent for 330 consecutive days, deemed a non-resident.
SUMMARY OF THE RESIDENCY REQUIREMENT
· For individuals: you have 2 tests that you can apply to determine whether or not they are residents.
· “Ordinary residing” test
· “Physically present” test
· If you are ordinarily residing in a country, you will automatically be a resident
· Key factor is intention; does the person have the intention to return to the country?
· With the physically present test, there are 3 requirements:
· In the current YoA (2010), you need to be in SA at least 91 days;
· In the previous 5 years,  you needed to be SA at least 91 days every year;
· The days that you were physically present in SA, in those previous 5 years, must add up to 915.
· If you are physically absent from South Africa for at least 330 consecutive days, you will be deemed to be a non-resident.
· It is possible for a person to be taxed in more than one country viz. double taxation.
· Usually there exists double taxation treaties between countries.
· E.g. you’d pay full amount in SA but only 2% in USA
· There treaties do not exist between ALL countries.
· As soon as you lose your SA citizenship, or residency, that does not mean that you have accepted, adopted citizenship of another country.
· You can be stateless; this is a gap in Tax legislation and ppl can go around evading taxes thru evading citizenship
· If you are a juristic person, you will be a resident of SA if you are incorporated, established, formed or have your place of effective management in SA (dna to Partnerships, as not juristic person, must look at individual partners therefore applying the 2 tests).
For the cases: Friedman and others v CIR: In re estate Phillip Frame Will Trust v CIR, know the principle above it in SG.
Requirement 2: Total Amount
1. “Total”
· Indicates that all types of income of the taxpayer must be added together e.g. salary, interest, business income, dividends ect. (very wide).
2. “Amount”
· Includes cash and the value of any asset that the tax-payer may receive; corporeal and incorporeal.
· Main question- does the asset have value.
Peoples Stores case (class notes sufficient)
“Accrues” means “entitled to”
Facts: People Stores were a retailer and they sold certain good to the public, one of the services that they offered was that they could buy your clothes (e.g.) and pay it off over six months (lay-bye).  At the end of the businesses’s year of assessment, R1.3 mil was outstanding because of the 6-months revolving credit scheme.
The Commissioner included this R1.3 mil in their tax assessment (future income).
Held:
1. An amount must have a money value or money’s worth
2. In this case, there was an amount of R1.3mil and that it accrued to People’s Stores and they were entitled to it.
3. Only question was- what was the value of this income?
4. You can’t tax People’s Stores on face value, must be taxed on present value.
After this position, the income tax was amended to say that you will be taxed on the face value and not on the present value
Butcher Brother’s case
Considered who must be burdened with determining the value of an asset.
Principle: the onus to establish an amount rests with the Commissioner and not that of the taxpayer. 
Facts: BB (taxpayers) owned a piece of real estate/land which they wanted to let out.  Ito lease agreement, the tenant would erect a building on the property and the lease period would be for 50 years.  After which the lessor will become the owners of the building.
It cost them £50, 000 to erect building and the Commissioner wanted to tax BB on this amount.
Held: The Commissioner can’t do this because the Commissioner failed to est an amount for the value of the improvements made to the land.  The value of the building cannot be predicted 50 years into the future.
As a result, Act amended again and the legislature said that if you ever have a similar factual situation- lease, tenant who erects a building and the lessor becomes owner of building on future date- you must in lease, specify an amount that you think the building will be worth when you become the owner.
· Notional interest (imaginary interest) cannot be included in your gross income.
· A person renders a service to a company but ito of agreement btwn himself and company, he will not be paid in cash but will get shares in the company as remuneration.
Lace Proprietary Mines case
The company disposed of certain mineral rights to another company for £25, 000.  Company A did not pay this amount in cash, it allotted 100, 000 fully paid up shared to Company B.
The nominal value of the shares were 5c and the market value 12c.
Which amount must the taxpayer be taxed?
1. Value of £25, 000
2. The nominal value of 5c
3. Market value of 12c
Held: decisive factor was intention of taxpayer, reference to £25, 000 and nominal value of 5c could not override the true intention of the taxpayer to dispose of 100, 000 shares at market value. 
i.e. intended to dispose of shares according to market value on the day that agreement was concluded.
· What happens when you exchange one asset for another and the Commissioner wants to tax you, how is he going to determine that amount?
Held: value of the new asset that you receive will constitute the amount.  Even exchange transactions not excluded from ITA.
3. In cash or otherwise
· The value of any amount that you receive instead of cash must be included in your gross income.
· According to Lace your market value will generally be the value that you include in your gross income
· In Butcher Brother’s case, if you can’t ascertain or ascribe a monetary value to an asset, it cannot be taxed.
Cactus case
Facts: one of the parties to a transaction was a pension fund which made investments and they received dividends on these investments.  The taxpayer would get a certain percentage of dividends on a deposit that they made to the pension fund.  The pension fund wanted to swap their dividend rights with the income of another company.  Wanted to swap their pension income for interest income.
SARS does not like swap transactions. 
Court determined if: 
1. Swap transaction can be performed 
2. In cash or otherwise transaction has been met
READ CONCLUSION IN CASE
4. Received by
· General rule: you cannot be taxed on income if you haven’t received it or if it hasn’t accrued to you yet.
· Accrual will always precede receiving
· Any amount that you receive of that is accrued to you, must be included in your gross income if:
1. You receive it on your own behalf;
2. You receive it for your own benefit.
Geldenhuys case
Facts: husband died and wife didn’t inherit anything except a usufruct over property.  She could use the property for as long as she lived but the children inherited it.  The property was a flock of sheep and she had to maintain it but any by-products of the sheep, she could keep for herself or sell to generate income.  She wanted to sell the sheep but needed the permission of the children to sell them and it was granted.
Q: Is the Commissioner allowed to tax her on the profit she made from the sale of sheep?
Held:
1. Proceeds realised belonged to the children and not to the wife;
2. She did not receive benefit for her own purposes and you cannot be held liable in tax for amounts received for the benefit of other parties.
E.g. you are an attorney and you receive rent obo one of your clients.  Will you be taxed on the rent?  No:
1. Did not receive it on your own behalf
2. Did not receive for own benefit
· Even if get physical control of money doesn’t mean that it was for your own behalf and benefit (CIR v Genn)
One person borrowed money from another, crt said cannot say borrowed money is received because the moment that money is given to you, you are placed under an obligation to pay it back at some stage.
COT V G
The term “received by” cannot be extended to include the unilateral taking of something.  If you steal something, that will not qualify as “received by.”
The taxpayer misappropriated certain funds (stole money) and the court said that he didn’t “receive” the money for purposes of the GI definition.  Didn’t receive it on his own behalf and benefit because the other party (victim) never had the intention of disposing of the asset and no rights were conferred on the taxpayer.
Court decided that stolen money cannot be taxed.
Stander case
Mr. S worked for a motor dealership as the bookkeeper. The motor dealership was a franchise of Delta Motors.  DM recognised the good work that Mr S did for them adn decided to award him a 7 day overseas trip for him and his wife to the value of R14, 000.
The Commissioner wanted to tax the R14, 000 and the court said no because:
1. Mr. S was not able to exchange this prize into money;
2. He never received anything like vouchers;
3. The time he took off work (7 days) was actually taken out of his leave;
4. The prize had no monetary value in S’s hands.
Therefore it was not taxed.
5. Summary of “received by”:
a. If you receive something for your own benefit and on your own behalf, you will be taxed on it (Geldenhuys).
b. The intention of the person giving the cash/asset to you does play a decisive role.
c. Stolen money can never be “received by” the thief for income tax purposes.
d. Borrowed money will not qualify as being “received by” the taxpayer.
e. The physical receipt of asset or cash is not a prerequisite.

6. Accrued to...

Lategan case
L was wine farmer and sold and delivered a number of wines in a particular YoA.  Part of the purchase price was received in that specific YoA, while the outstanding amount, would be received in instalments after the end of that YoA.
Commissioner wanted to tax him on the full purchase price.  Lategan argued that he hadn’t received the outstanding amount yet.
Held: Commissioner could claim full amount because “accrued to” means “entitled to.”  AS soon as you’re entitled to an amount, you may be taxed on it, even if you’ll only receive it in the future.
a. Unconditionally entitled to an amount
· Before a right an accrue to a taxpayer, he must be “unconditionally entitled” to claim that right. 
· If your right to claim future instalments is conditional, or dependent upon the performance of the taxpayer of certain obligations, there can be no accrual.
· E.g. if condition that 3rd party must consent or taxpayer must 1st render services or provide goods, can’t say it’s unconditional.
· Accrual can only take place once all conditions have been fulfilled.
Mooi case
Court went even further, yes it is right to say “accrued to” = “entitled to,” we think it should be “unconditionally entitled to”
Delfos case
“Accrued to” means “due and payable”
People’s Stores case
Resolved uncertainty, said Lategan’s interpretation was correct i.e. “accrued to” = “entitled to.”
b. Levy of tax on both receipts and accruals
· If you receive and the money is accrued to you, in the same YoA, you cannot be taxed twice on it.
· You may also not be taxed in the year it is accrued to you and then in the year it is received by you.
Silverglen investments case
The Commissioner doesn’t have the right to choose when he want to tax you.  He must do it on whichever one occurs first.
· What happens when the amount accrued to you is less than you receive?
· You will be taxed in the subsequent your on the excess.
· Must the taxpayer necessarily receive a benefit from the accrual before it is included in his Gross Income?
· Courts: Test is not whether or not you received a benefit, all that you ask is: did the taxpayer receive something with monetary value or can be valued (Stander)
Ochberg case:
The presence or absence of benefit to the taxpayer does not provide a proper test.
Facts: O held shares in a private company.  He rendered certain services to the company and in exchange, the company issued more shares to him.  The Commissioner taxed him on those shares even though he already held almost all of the shares in the company.
O argued that he did not receive any benefit from the transaction, my percentage-holding in the company only increased fractionally.
Minority: Mr. O shouldn’t be taxed on this transaction because no money was added to his estate, this was only fictional income and in our tax law, we don’t tax on fictional income.
Majority: Mr O must be taxed
1. Although you can’t see the benefit, O would not have rendered his services if there wasn’t anything in it for him.
2. The real test/ question: Do the new shares have a value to a 3rd party?  If they do, then Mr. O must be taxed on that amount?
3. NB- Conclusion: an amount will be taxed if it has value in the hands of a 3rd party.
Note: Compare this to Stander Case?
c. Date of valuation and accrual
· Only income that you receive or is accrued to you in a specific YoA, will be subject to tax and each YoA stands independently from the other years.
· Accrual rule: the amount to which the taxpayer is entitled but that he has not yet received during the specific year of assessment will be deemed to have accrued to him during that year.
· Rule not merely a timing rule, it is also a valuation rule and its purpose is to include in your Gross Income, the full nominal value of any accrual outstanding at the end of the YoA.
· Accrual rule applied:
· When the taxpayer becomes entitled to an amount during the YoA.
· The amount is payable on dates falling outside the current YoA.
· Cactus investment must be self studied
· Self study Brummeria- articles on this will be given (10-15 mark discussion)
· Self study NP finance group
· Self study GUD holdings
· Background to the Brummeria case
Investors in a retirement village were not going to pay the contractor (the tax payer) in cash for building the accommodation.  They were going to give the tax payer interest free loans instead. The commissioner wanted to tax the interest free loans.  The court had to decide whether the right to interest free loans could be equated to an asset that has a monetary value.  
SEMESTER TEST 50 marks
MONDAY, 6 SEPTEMBER 2010
18H00- 19H00
Chap 1-4 

2 August 2010 
·  Chapter 2 study guide: study Para 2.3, leave out 2.3.7- 2.3.9, 2.4.
· MP finance group case: self study
5. Accrued to continued...
Disposal of income after accrual
· Whatever a tax payer does with his income or proceeds after it has accrued to him 
· 
or he has received it, that is completely irrelevant to the commissioner. Therefore the ultimate destination of the income is irrelevant.
· CIR v Witwatersrand racing association:
· Facts: Horse racing association decided to hand over the proceeds of a specific racing event to a charitable organisation. The commissioner wanted to tax them on these proceeds. 
· Court said that the commissioner could tax them on the proceeds because they decided to donate the proceeds only AFTER they received it i.e. after it accrued to them. For them to avoid paying tax they should’ve divested themselves of the right to proceeds beforehand i.e. draw up contract before that states any proceeds made goes to that organisation.
· NB Decide have they received it and has it accrued to them at the time of giving the funds.
7. Or in favour of...
· An income received by or on behalf of the tax payer will still be included in that tax payers gross income. E.g. if an agent (lawyer) then you will be taxed on it, not the agent.
· An amount will be included in your gross income irrespective of what the tax payer does with that money after it has been received by him or it has accrued to him.
· A tax payer may divest himself of income or the right to income, that he may receive or may accrue to him in the future. 
8. Year or period of assessment
· Only income that is received or accrued in a particular, or specific year or period of assessment will be included in your gross income. 
· Year of assessment for a natural person is 1st March- 28/ 9 Feb the following year.
· Year of assessment for juristic person (company/ CC) is always the same as the financial year of that juristic person.
· Year of assessment for anything else (farmers/ fisherman) 1 July- 30 June the following year.
· Where the tax payer dies or goes insolvent, he will be taxed from the beginning of the year of assessment until the date of death or insolvency.
9. Application of principles
3 Examples of where it is applied in practice:
1. Deposits and advance payments
Pyott case
· Facts: P manufactured biscuits and tins in which o place these biscuits. The wanted the tin back from the consumer as it was in war time and tin was very valuable. P gave a cost of biscuits with tin was R10 but if return tin get R4 back.
· Question: What should they be taxed on? Full purchase price R10 or R6 once tin is returned?
· Problem: No obligation to return the tin this was merely an incentive. 
· Court held:

1. From a tax point of view, the question must be asked whether or not there was an obligation to repay.

2. ITO the accrual requirement, if you have an unconditional obligation to repay, then the recipient also has an unconditional right to payment BUT if the obligation to pay is conditional, then you don’t have an amount to include in gross income until such time that the condition is fulfilled. Note in this case the condition was that the tin be returned.

3. There can be a specific year of assessment where at year end nobody has brought back their tins so there was no obligation on P to repay. The court said the important thing was that the obligation to repay must be dealt with in the specific year it arises. Therefore ultimately will be taxed on R10 but if some people bring back tins in the next year then it will be changed because they can’t predict how many people will bring back the tins therefore only deal with the issue of returning the tin in the year it is returned. 

· Can only be taxed on a concrete situation and not one that has been predicted!

Disputed Claims:
BC case
· Facts: 
· BC was entitled to a salary and a specific profit for shares in the company but it was a family business and his brother fired him. He claimed the brother could not fire him and he continued going to work, there was an employment dispute and in the mean time the company made profit. The profit was paid into BC’s account. 
· Question:
· Could profit be taxed?
· Court held:
· Until the dispute has been resolved you cannot tax this specific amount.
· Therefore when there is a court case pending, you cannot tax the amount that is material to the case.
CIR v Golden Dumps case
· Facts:
· Golden dumps offered employment to Nash which Nash accepted. ITO the agreement Nash was entitled to shares at a stipulated price. Short time later golden dumps suddenly dismissed Nash. Nash however still wanted his shares. 
· Question:
· Was Nash entitled to these shares? And whether expenditure incurred by golden dumps in purchasing the shares had actually been incurred in 1981 (when case proceedings started) or in 1985 (when they got a judgement)?
· Court held:
· The expenditure incurred actually took place in 1985 when there was finality to a case. 
· Something is incurred when the decision is final.
ITC 313 case
· Principle: court made a mistake in this case as they looked at the facts retrospectively. 
4 August 2010 
· ITC 1624 case, H/O about brumeria case- 15- 20 mark answer whether or not can tax interest free loans. 
ITC 1624 case
· Facts:
· Clearing agent was tax payer, when you import and export goods, you will be charged a certain amount of money. The clearing agent will pay this amount upfront and then invoice you at a later stage for his services and this amount.
· In this case the tax payer forged certain invoices and his client paid him. The clearing agent did not disclose this extra income in his gross income (because basically stolen). 
· Question:
· Whether or not the clearing agent could be taxed on this amount?
· Clearing agent argued it can’t be taxed because if you look at COT v G they say that where you steal money you are not taking or receiving the money on your own behalf and for your own benefit therefore 2 requirements are not met.
· Court:
· Decided not to follow precedent in COT v G and have in this instance the tax payer did receive it for his own benefit.

Chapter 3- STUDY
· Chapter 5 in Silke- STUDY para 5.1, 5.2, 5.3 and 5.4. Leave out para 5.5

· Chapter 3 study guide: Delete Whitfiled case. Millin answer ques given. Essential Sterolin products limited is SELF STUDY.

· Millin case questions:
· Which factors were dominant according to the court? 
· Do you agree with the courts finding? Or do you feel that apportionment should’ve taken place?
· Would the tax liability of Mrs Millin have been any different if she was not a resident of SA?
· Substantiate all answers
· Additional cases: 
· Boyd v CIR,
· Overseas Trust Corporation v CIR and
· British United Shoe Machinery. 

· TEST 6 September
Chapter 3- non- resident tax
“From a source in the republic or deemed to be in the republic...”
· Everything above this related to residence in SA.
· Currently if you are a resident of SA you will be taxed on your worldwide income. 
· If you are a non- resident you will only be liable to pay tax in SA if the income was received from a source within SA. Any non- resident is entitled to the same deduction and rebates as a resident.
· Resident vs source based taxation
· Note: All cases looked at here were source based.
· Real or true source of income. Developed tests:
a) Source means origin not place
- CIR v Lever Brothers case
· Term source may be equated to originating “cause”.
· Must ask 2 questions:
1. What is the originating cause of the income?
2. Is the originating cause in the republic? 
b) Ascertaining source is a practical hard matter of fact i.e. don’t interpret it as a legal concept rather look at what the laymen on the street would regard as the real source of income:
- Rhodesian Metals Ltd case

c) The place where the capital is employed (used) determines the source.
- Rhodesian Metals Ltd case

d) Activities test- person uses his wit, intellect and knowledge which indicates source of income.
- Millen case
- Epstein case

e) Place where contract was concluded (place where last person signs it)- this can only be the case where the making of the contract is the essence of the business being carried on. 

f) Dominant sources, sources of incidental income and multiple sources.
· Dominant source- usually used in a business context usually where one activity can be said to be dominant. 
· Source of Incidental income- where do the main activities take place?
· Multiple sources- there is no real one or two dominant sources, will have to apportion the percentage of income however courts are reluctant to find that multiple sources of income rather consider 1. Dominant source and 2. Incidental income 
· Over years 7 GENERAL tests were developed by the courts.
· Asked: give factual question and go through the tests and apply them to a set of facts.
· In addition to GERERAL tests, courts have developed certain principles for specific situations:
A) Interest
Lever Brothers case
· Facts:
· Tax payer took out loan and had to repay loan with interest.
· Question:
· What was the source of the interest?
· Court:
· Should not look at:
1. Where the debt is payable.
2. Where the borrower productively utilises the loan.
3. Place where the interest is payable.
4. Place where the loan is or should be repaid.
5. Place where the loan agreement is concluded.
· RATHER Look at:
· The place where the money is made available and this is the source of the interest.

B) Rent and lease receipts
· Immovable property is always where it is located.
· Rhodesian Metals case
· Facts:
· Company situated in England and who sold the whole business as well as certain mining rights in Rhodesia to another English company. A profit was made.
· Question:
· What was the source of this profit?
· Court:
· Because doing with immoveable goods (mining rights), the source would’ve been in Rhodesia and not in England.

· Moveable Property/ Goods
· British United Shoe Machinery case:
· Facts: 
· Had company incorporated in SA and their business was to sell and rent machinery used to make shoes. They leased machinery to a company in Rhodesia and got a rental income from the lease. 
· Question:
· Where was the source of rental income?
· Court:
· Need to look at two things:
1. The nature of the moveable goods or property, AND
2. The duration of its use.
· Need to place emphasis on the property let and not on the business of the lessor. The source of the rent was derived from the use of the machinery and the machinery was located in Rhodesia.
· Note: Court looked at the agreement which was for a very long time.

C) Royalties
Millen case:
· Facts:
· Mrs M wrote a book in SA and gave the right to publish the book to English publishers, the contract was also concluded in England.
· Question:
· The source of the royalty income?
· Court:
· SA because this is where she used her whit, intellect and knowledge therefore source of royalty income is in SA.

D) Sale of trading stock
· Moveable vs immovable trading stock property
· Immoveable consider location.
· Moveable property- don’t have a clear guidance of what this would be. Usually look at where the capital is employed and the activities executed (no clear authority)
Epstein case:
· Facts:
· E was a partner in partnership which carried on activities in 2 countries: SA and UK.
· Court:
· The partner carrying on business in SA will be taxed in SA as this is where he rendered his services. 
· Note: Decided before residence concept was adopted therefore source based.

Transvaal Association of Hide and Skin case:
· Facts:
· Company incorporated in SA, it had its headquarters in JHB and its branch officers in PTA. The company bought hides from an abattoir in Botswana and these hides where processed and cured in Botswana before they could be delivered to the company in SA. 
· Appeal court:
· Process and curing of hides was the dominant factor and this took place in Botswana and not SA therefore the source would be from Botswana.

E) Source for services rendered
· General rule: Source is the place where the services are rendered so the place where the contract was concluded is irrelevant also place where remuneration is or was paid is irrelevant. 

F) Source of Director’s fees/ remuneration
· Director’s fees/ services are rendered at the head office of the company, this is irrespective of where the director resides or where he performs his services.

G) Annuities
· Payments made continuously from one person to another, contractually or ito a will.
· The source is determined by looking at the place where the contract was concluded.

H) Dividend
Boyd case
· Source of dividend is the place where the share is registered. 
· ITO company law for company to function it must be registered in SA therefore dividends are always South African.

I) Partnership Activities
CIR v Epstein
· Above

J) Shares
Overseas Trust Corporation case
· Facts:
· Tax payer was a financial and investment company whose main business was to trade shares through brokers in Germany. The German brokers were instructed from Cape Town to find buyers at a specific share or price and then all documentation would be forwarded from Cape Town to the new shareholder.
· Court:
· The source of the profits of the shares was SA because the transaction was controlled from SA. The German brokers were mere agents of the SA Company.
· Who has the most control over this transaction?

CIR v Black case
· Facts:
· B was a stoke broker who was ordinarily residing and doing business in JHB and he obtained a profit from a share transaction that was done in London. 
· Question:
· What was the source of this profit?
· Court:
· The source must be London because the transaction took place in London i.e. the making and execution of the contracts took place in London not SA.
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5 Deemed source
a. Past (b4 2001), SA residents/ citizens taxed on a source based system- if you were a SA resident and your source was on in SA, you were not taxed.
b. Current: Position changed, if resident of SA you will be taxed on principle of “residence based” tax
5.1. Deemed source: default position, certain income deemed to be from a source within the Republic irrespective of where the actual source is.
Process:
1. Deemed source situation (resident)
2. Actual source
c. Specific instances:
i. Alimony and maintenance: deemed to be from SA source if two reqs met:
a. The income must have accrued to the person or received by the person by virtue of a judicial order or a written agreement of separation or a divorce order. (basically need some sort of formality)
b. The taxable income of the recipient’s former spouse must’ve been reduced by this amount (my come from your ex).
ii. Sale of goods- if the agreement for the sale of goods was concluded in the Republic, the income generated by the sale will be deemed to be from a source from within the republic.
iii. Royalties (Millins ? case) – if a person receives income from the use or right to use any patent, design, trademark or copyright the income will be deemed to be from a source within the Republic.
iv. Scientific, technical, industrial, commercial knowledge or info: any income a person receives iro communication of his expertise for use in the Republic will be deemed to be from a source from within the Republic.
E.g. SARS gets in a consultant from IRS and tells them how to do efiling.  Any payment SARS makes to him, that income is deemed to be from a source from within the Republic.
v. Services rendered during temporary absence.  E.g. live in UK and work for SAB, any income that you receive will be deemed to be from a source from within the republic.
vi. Services rendered abroad for gvt and other bodies: what is NB is that you have a service contract with gov or body.
vii. Pension: 
· Any gov pension that u receive or a pension ito a local authority that will be deemed to be from a source from within the republic (gov pension).  
· Non-gov pension will be deemed to be from a source within the Republic if the services for which the pension is paid were performed in SA.
viii. Interest: interest, finance charges or premiums which you receive ito financial arrangement will be deemed to be from a source from within the Republic if the income was utilised in the Republic.  
· Interest will be the fruit, must look at where the asset was employed.
ix. Services rendered in a foreign country by seamen or air personnel: look at where they are ordinarily residing and that would be in the Republic.
REMEMBER TO DISTINGUISH BTW WHEN UR DEALING WITH RESIDENTS AND NON-RESIDENTS.
STEPS FOR TAX ASSESSMENT
1. Resident or non-resident
2. If non-res, is it one of the specific instances of deemed sources
3. If it doesn’t fall in deemed source category, go to actual source to see where the actual source may be.



CHAPTER 4: “EXCLUDING RECEIPTS AND ACCRUALS OF A CAPITAL NATURE” NB
· Study para 3.1-3.4 (in 3.4. only in specific instances that are dealt with in class).
· READ CHAPTER AND SUMMARIZE , CASES ALSO HERE

Cases
1. Middleman, class notes
2. Nussbaum, self study
3. Delete Visser
4. Elandsheuwel, self study
5. Delete Overseas
6. Berea West, classnotes
7. Natal Estates, self study
8. SIR, CIR and CIR, pgs 29-30 of SILKE
9. Bourke’s Estate- self study
10. George Forrest- self study

· Must determine if accrual is of a capital nature or a revenue (=income) nature.  
· As the tax payer, you want it to be of a capital nature coz then you don’t pay normal income tax on it.
· You may however have to pay capital gains tax.
· The term “capital nature” has not been determined by legislation so the courts have to balance various tests to determine if it is capital or revenue of nature- cannot be both.

Income nature
1. Amounts received by the taxpayer for the use or enjoyment of his asset or property e.g. rent, interest, or royalties (income nature), normal tax applies.
2. Amounts received for services rendered (salary)
3. Profits made through the sale of an investment such as art or a house or a piece of jewellery but only if it is the taxpayers normal business to sell these items.

Capital nature
1. Once-off inheritance
2. Donations that you make
3. Once-off gambling winnings.
4. Where you sell an asset which was kept as an investment.
How do courts determine if something is of a capital or revenue nature?
· Capital tax is desired if you are 
· Section 18(2) onus on taxpayer to prove that the receipt or accrual is of a capital nature.
· How?  Generally, the taxpayer would prove that he held the asset as an investment and that he did not sell in a scheme of profit-making.
Test developed by our courts may be divided into 3 main categories:
Automatic classification test: 
Courts maintained that there are certain factors that will be indicators to tell u if something is capital or revenue in nature.
1. No change in ownership of the asset e.g. rent when you receive income by productively employing a capital without the ownership of the asset changing, then it is going to be of an income nature.
2. Nature of the asset: e.g. you own a plantation and you have an agreement with the paper company and each month they buy the trees- if you sell the plantation the plantation itself is capital and the trees are income.
· If dealing with immovable goods, it’s going to be capital.
CIR v Middelman
Taxpayer made a profit when he sold some of his shares and the question before the court was whether the profit was income or capital in nature.
1. Onus to prove that is was capital in nature lies with the taxpayer
2. All shares were bought as a long term investment.
3. Any profits made were incidental to main objective.
4. Only reason taxpayer sold his shares was that he needed to buy a car and had no intention of making a profit.
5. The courts said you must look at subjective as well as objective factors.
6. The court said that in this instance the profit was capital in nature.
CIR v Nussbaum
A teacher inherited shares and he invested them into the share market.  There were unforeseen medical expenses
READ REST OF CASE (CAP OR REV) AND REASONS
3. Reason for receipt: if receive amount for services rendered, nature of tax will be revenue
4. Legal nature of receipts 
5. Operating/ carrying on a business in a scheme of profit making.
· Need to ascertain taxpayer’s motivation- if it is to make a profit it is revenue
NB: Elandsheuwel Farming
Company brought property in 1964 which was held as an investment.  The company go new management and new shareholders and they decided to sell the property and made a huge profit on the sale.  
Q: was it capital or revenue in nature
Held:
Original intention of company was to hold this asset as a long term investment, however, with the new management and shareholders, came a change in this intention. New managers and shareholders decided to sell it in scheme of profit-making.  In this instance company was taxed on profits as new intention was to make profit and therefore was revenue.
Crossing of the Rubicon
· Moment when taxpayer’s intention changes.
READ CASE, work out model answer for 10-15 marks
Berea West Estates
Company specifically formed to obtain certain assets from a deceased’s estate and trust, Co wanted to resell these assets upon obtaining them.  Amongst the assets was farming property.  Co subdivided this farming property into a new town, when the farming property was sold, a profit was made.
Q: was profit income or capital?
Held:
New town took several years to plan and develop and because of this it was a long term project that should be viewed as being capital in nature. Was almost as if company acquired farmland as a long-term investment.
6. Fixed vs floating capital
· Floating capital: is something that you can consume and through its use, you can destroy it (diminished through use)
· Revenue in nature- in plantation e.g., trees floating and farm is fixed capital.
· Fixed capital: normally immovable property which is not destroyed through use or consumption
Read in SILKE
Bourke’s Estate v CIR and CIR v George Forest Timber and COMPARE THEM
Subjective test
· Intention of taxpayer is decisive, most important test our courts currently use.
· If taxpayer holds asset as an investment, the receipt will not be taxed as will be capital in nature.
· If taxpayer uses it in scheme of profit-making, he will be taxed because the nature is income making
· Courts said look at 3 things:
1. Intention of taxpayer at the time of the acquisition of the asset;
2. Intention of taxpayer at the time the asset was sold;
3. The intention of the taxpayer during the time that the asset was held.
· Possible for taxpayer to have mixed intentions and courts have said that if this is the case, we must look at real or dominant intention.
· Also possible to have alternative intentions
· Court said cannot have simultaneous income and capital intention, must be one or the other.
· If not sure, deemed to be revenue or income in nature.
· Can also have a change intention
· However if you decide to sell an asset, does not mean that your intention has changed from capital to revenue.
· Change of intention means something more than the mere selling of an asset of capital nature.
· “something more” = crossing of Rubicon.
· AS soon as cross Rubicon, selling asset in scheme of profit-making.

16 August 2010
Elandsheuwel  and Natal Estates
NE
Company formed in 1921 and took over another company as “a going concern” i.e. took over the entire company.  Company B had a cane plantation which they had cultivated for 25 years, when this new company (A) took over B, it sold this plantation and made a profit;  R65mil.
Q: Was profit revenue or profit in nature 
READ COURT’S DECISION AND REASONING BEHIND IT.
· Intention of company: the courts have said that you need to look at the name of the company, the aim or objectives of the company and its activities.  Also look at the Memorandum of Incorporation but this is not decisive.
· NB: keep in mind that intention of directors are not the intention of the company, however the intention of the shareholders is deemed to be the intention of the company (Richmond Estates)
· 
Objective test
· There are certain objective factors that you need to take into account when you want to determine the intention of the taxpayer.
1. Manner in which asset was acquired/ disposed of: where the taxpayer has used his own money to buy something, it’s more believable that you are going to keep it as an investment, rather than where a taxpayer borrows money.
2. Duration for which asset was held: if you sold an asset after only holding it for a short time period, it’s indicative of income in nature.
3. Continuity: look at no of similar transactions that the taxpayer has performed.  Is he in the business of buying and selling houses/ jewellery? 
4. Nature of taxpayer’s work: is he an estate agent, broker, or salaried EE?
5. Other factors: 
a. Taxpayer’s age
b. Nature of asset
c. Taxpayer’s activities before, during and after the sale of the asset.
d. How the taxpayer account for asset in financial statements.
Specific transactions
· Advance payments and deposits: if you receive a deposit or advance payment, is it of revenue or capital nature?
· It is of revenue nature.
· Containers: you pay deposit for container but supplier places that deposit in a trust fund.  Once you returned the deposit, you received your deposit back.  Because the deposit is place in a trust fund, it is of capital nature.  If it was not paid into a trust fund, it would be of income in nature.
· Closure of business and sell off assets and stock: Income nature.
· Income from copyrights, inventions, patents, trademarks: Capital nature.
· Damages that you receive: general rule is of a capital nature but if it’s paid to you to fill a gap in your income, it’s going to be of revenue in nature.
· E.g. loss of income would be revenue in nature.
· Gifts, donations, inheritance: if it is once off, it will be of a capital nature.
· Gambling: once off will be of a capital nature.
· Money made from trading stock: revenue nature.
· Loans or debentures: revenue nature but if you have the intention of keeping it as an investment, it will be of a capital nature.
· Kruger Rands: capital nature but must look at taxpayer’s intention and in SILKE pg 36, there are 3 examples of how intention of taxpayer differed.
· Options: over land and shares e.g. have an option over a farm, the option would generally be of a capital nature but it will depend on the taxpayer.
Immovable property
· General rule: of a capital nature but if you buy a piece of land with the intention to resell it, it will be revenue in nature.
Elandsheuwel Farming
CSARS v Wyner
Taxpayer had a lease agreement with the Cape Town municipality for a bungalow in Clifton (1971).  The lease agreement was for one year and it could be terminated thereafter by either party.  Nobody terminated the agreement and she lived there for the next 21 years.  In 1986, the council gave her the option to purchase the bungalow for just over R200k but she didn’t make an offer and just continued with the lease.  Then in 1994, they made her an offer again and this time she could purchase it for just over R800k.  So in Oct 94, she made them an offer and purchased it and in March 1995, she appointed an estate agent to sell it for R2.8mil.  After everything was deducted she made profit of R1.5mil, SARS taxed her on the R1.5 and said that the profit was of an income nature.  She refused saying it was of a capital nature.  
The SCA decided that this was a scheme of profit-making, it was of an income nature and therefore taxable.
Fruits of the land
· E.g. crops= revenue nature but the land is capital.
Matla Coal v CIR
Taxpayer who owned a coalfield in Eastern Tvl.  Eskom invited tenders for the provision of coal in ET.  The taxpayer put in a tender ito which Eskom would pay a purchase price as well as royalties per tonne.   Eskom did not want to pay the royalties; they wanted to pay a once-off amount instead.  An agreement was drawn up and the taxpayers sold the coal rights to Eskom.
Q: the amount received for the coal rights, were they of a capital or revenue nature?
Held: the coal rights were of a capital nature.  The same as minig rights
Estate AG Bourke v CIR
SELF STUDY



18 August 2010
Shares 
· Capital or revenue in nature?

Barnato Holdings Ltd v SIR
· Facts:
· Tax payer was a mining house and entrepreneur that used to trade in shares but it changed its intention and amended its memorandum to say that now it is going to hold shares as an investment. In that year the taxpayer also wrote to SARS to inform them of their change of intention but despite this fact the taxpayer did trade in shares from time to time therefore ignoring its own policy. SARS treated any capital on its shares as capital in nature. 20 years later SARS gave the taxpayer notice that he is going to reassess certain years in the 60’s when the company was doing these share transaction. SARS then taxed the taxpayer on these and treated it as being of a revenue nature.
· Issue:
· Had SARS reasonably found that a profit a taxpayer had made was of an income nature?
· Court:
· The taxpayer had failed to discharge the onus of proving that it was of a Capital nature and the court said that the selling of the shares formed an integral part of the business of the taxpayer.
· Therefore when it comes to shares the intention of the tax payer is going to be decisive if the shares are used as trading stock, any profits made on it will be of a revenue nature BUT if you hold the shares as an investment with the intention of getting dividends from it then that will be of a capital nature.
· Intention is NB in deciding this, intention when he acquired it, held it and most importantly when he sold it. If selling was for profit= Revenue.

Till here for test

Chapter 5: Specific Inclusions

· Know- chapter 4 in Silke and Stander case, just know class notes.

1. Introduction
· In terms of the Income Tax Act there are specific amounts that must be included in your gross income irrespective of the fact that it is of a capital nature.
· Therefore before asking if something is capital or revenue nature must run through this list and make sure it is not one of these specific inclusions.

I. Annuities

1. There must be an annual payment
2. It must be repetitive
3. It must be chargable gainst a person
e.gs
1. Can buy from insurerer
Can get it by way of gift or legacy
Can get it as consideration of a sale of a business of an asset
The source of the annuity is relevant.
· Exeption: s10A- where you receive an annuity from an insurerer, the annuity must be sub-divided into a capital portion and a revenue portion.
· Only the revenue portion will be taxed
II. Allowances and maintenance
· Will apply if you got ur divorce before 21 March 1964, it will be included in your gross income, if you got it after the date, not included.
III. Services
· Sec 1, any amouht that a person receives for services rendered or work done or an office help must be included in your gross income and there must be a causal link btwn the amount received and the work done.
· NB: refer on notes on Stander v CIR
IV. Payment received for restraint of trade
· Any payment that you receive as a result of a restraint of trade will be included in your gross income.
· Midway case
V. Compensation for the loss of office
· Where you receive money because you were retrenched, or your contract was cancelled or you were fired.  This must be included in your gross income. 
· Key characteristic is that you don’t leave your employment by choice
VI. Benefits received from Funds
· Lump sum, once-off payment from a pension fund, retirement fund or provident fun.
· Will be 2/3 of the whole lump sum.
VII. Commutation of amounts due
1. Where you don’t take leave and your company pays off that leave; must be included in gross income.
2. When your employer pays you an amount because of breach of contract.
3. Where your employer, doesn’t give you the required notice before terminating your employment but gives you money instead.
VIII. Lease premium
· A concludes lease agreement with B ito B must pay him R2000pm and give him a once off payment fo R5000- the R5k is a lease premium and specific includsion
· Can have it lease premium on land, building, plants, machinery, even on a motion picture i.e. whatever you can let out.
IX. Compensation for knowledge and info
· Get paid to give advice, any amount you get from this will be specifically included.
X. Household improvements
· Lessor is taxed, the amount that you include is gonna be the value of improvements as stated in the lease agreement or if the lease agreement is silent on value, you’ll include fair and reasonable value of the improvements.
· If the value of the improvement is more than the stated value in the agreement, that difference would also have to be included in your gross income.
· If it is less than anticipated or included- you claim a deduction.
XI. Dividends received
XII. Subsidies or reimbursements
· Specifically relates to State subsidies.
XIII. Anything you receive ito key-man insurance proceeds
· Where you take out insurance on the life of the director of the company.
· Anything you receive ito policy will be a specific inclusion.
Chapter 6
Exempt income
Chp 6 SILKE, just know class notes
Gross income
Plus: Specific inclusions
Minus: Exempt income
= Income
1. Introduction
· Free from normal tax so you show it on the gross income but is not included in term “income.”			
2. Exemptions can be divided into 2 categories”
a. Partial exemptions: bursaries, scholarships, certain employment benefits e.g. relocation benefit, share incentive schemes.
b. Absolute exemptions: granted to an entity because of the nature of the entity e.g. political party, the government, provincial administration or other state organs or religious orgs (churches), charitable org, educational institutes, sporting association.
· Therefore income that will not be taxed= receipt/ accrual of a capital nature and Exempt Income

1. Most important exemptions
a. Partial exemptions: 
i. Uniforms and uniform allowances.
ii. Relocation
iii. War pensions
iv. Awards for diseases  (normal dreaded disease policy)
v. Employment benefits
vi. Foreign pensions
vii. Remuneration that you received if you are outside SA and performing work for a period longer than 183 days in 12 months and 60 days must be consecutive.
viii. Dividends which are deemed to be interest.
ix. The first R30,000 you receive due to termination of employment because of age or disability.
x. Foreign income that a resident company receives from a listed country which has the same tax basis as SA and the rate may not be lower than 27%.
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Partial exemptions cont...
xi. Purchased annuities: S10A.  An amount that you received by way of an annuity will generally be included in your gross income but that amount is divided into a capital portion and a revenue portion and the capital portion is the exempt portion.
· Purchaser of annuity may be any natural person or his deceased or insolvent estate.
· Or can be curator or trust.
· In those instances where the insurer pays off the annuity.
xii. Bursaries and scholarships: requirements to be met before they are exempt.
· Must be bona fide scholarship or bursary;
· Must be granted to assist a person in studying;
· Must undertake your studies at a recognised educational or research institution.
xiii. Clubs, societies and associations.
xiv. Economic development areas.
xv. Interest and dividends received.
· If younger than 65, 1st R21k exempt.
· If older than 6t5, 1st R30k exempt.
· If foreign interest and dividends, 1st R3, 500 exempt.

Absolute exemptions
1. Receipts or accruals of a taxpayer for the sole purpose of environmental rehabilitation.
2. Pension, provident and retirement annuity funds.
3. Political parties.
4. Government and local municipalities and management.
5. Religious charitable and educational institutions.
6. Public benefit organisations.
7. Sporting associations.
8. Certain housing benefits e.g. housing projects for lower income communities
KNOW ONLY CLASS NOTES
Factual situation- is it included, is it exempt.
CHAPTER 7
GENERAL DEDUCTIONS
1. Introduction
General deduction formula that has 2 parts:
a. Section 11 (a): positive test, tells us what we can actually deduct;
i. For the purpose of determining the taxable income of a taxpayer, derived from the carrying on of a trade;
ii. Expenditure and losses actually incurred in the production of income;
iii. Will be allowed to be deducted;
iv. As long as the expenditure and losses are not of a capital nature.
2 locus classicus:
PE Electric Tramway
Facts: company owned trams and one of the drivers crashed into a wall and was seriously injured and later died as a result of his injuries.  PE Electric Tramway had to pay out an amount to his wife and the company wanted to claim this amount as a deduction.  The court allowed them to claim this as a deduction.
Held( Watermeyer J): this expense was incurred in the production of income- Employment of drivers was a necessity when you look at the nature of the business.  Whenever you have people driving on your behalf, you will always have this inherent risk that an accident may occur.  Because of this, there was a close causal nexus or link btwn the actions of the driver and the ultimate expense that was incurred.  You need to ask 2 questions: 
1. Which conduct gave rise to the expense;
2. Was this act so closely connected to the expense and to the business that it can be regarded as forming part of the business.
· Need a link btwn act and ultimate expenditure.
Sub-Nigel
Look at principle of this case: READ.
b. Section 23(g): contains prohibited deductions (stuff you can’t deduct).

REQUIREMENTS ITO DEFINITION
i. For the purpose of determining the taxable income of a taxpayer, derived from the carrying on of a trade;
The term trade has been given a wide meaning in the definition of the act.
Burgess (only class notes)
Term trade includes the following:
· Profession
· Employment
· Calling
· Occupation
· Venture
· Letting of any property
· Allowing somebody to use or yourself using a patent, design, trademark or copyright.
Two reqs for term “trade” 
(not prereqs merely characteristics or indicators of a carrying on of a trade, must investigate activities as a whole- what is excluded from the trade concept, interest, dividends, pension, and annuities):
1. Continuity of activities.
2. The long-term objective should be to make a profit.
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Burgess
The taxpayer and B decided to borrow money so that they can buy a policy, they would then invest the proceeds of this policy on the JSE.
The stock market crashed in 1987 and they lost everything, they wanted to deduct the investment because they said that they were conducting a trade and SARS disagreed and disallowed the deduction.
Held:
1. The parties involved expected to make a profit and it was possible for a transaction to qualify as a trade even if it is a single transaction.
2. The question was whether objectively speaking the taxpayer was conducting a trade.
3. The court decided that they were conducting a trade and they allowed the deduction
Reef Estate Ltd (class notes)
Taxpayer was in possession of various pieces of land and one of them he wanted to develop and create a shopping centre on it.  When he investigated the cost involved, he realised that it would cost too much.  He then let it out to a business who used it as a parking lot and the rental that they received was very little and the taxpayer had to pay tax on the property.  Taxpayer wanted to deduct this property tax that he had to pay reason being the property expense was far greater than the rent that he received.
Court disallowed deduction as the expense was of a capital nature.  This expense created an income generating asset.
Robin Consolidated Industries Ltd (class notes)
Taxpayer was manufacturer and wholesaler of stationery by 1986, the company had become insolvent and it was running at a loss.  In Sept 1986, it was placed under provisional liquidation.  The creditors were of the opinion that it would be the most beneficial to them, if the taxpayer was sold as a going concern.  In order to make this possible, the liquidators continued to trade and there were 2 specific sales: 1 for R6kl and the other for R3k during Oct 1987. The whole issue was around these two sales and whether or not the company, even though it has been placed in liquidation, was still trading.
Court found that they did not meet the trade requirement.
Held: while it may be in the normal course of trading for liquidators to sell off the assets, the concept of trade and realisation are different concepts.
De Beers & Modderfontein Deep
Just know principle.
A taxpayer may elect to trade for some other commercial advantage for his business or he may elect to sell his losses. We give a very wide interpretation to the term “trade”
Estate G v COT
A taxpayer’s activities must be examined as a whole in order to determine whether or not he was trading.
ii. Expenditure and losses actually incurred in the production of income;
Expenditure and losses
· Courts have not defined the term “loss” however, judge Watermeyer, says that the term “loss” means involuntary deprivation whereas the term expenditure means voluntary payment.
· Term “expenditure” is not limited to the outlay of cash; it also includes outlays in other forms other than cash.
Actually incurred
· Does not merely mean paid but also necessarily incurred.
· As long as the liability to pay an expense has been incurred, you can claim your deduction so no actual payment is required but must have been incurred.
· “Actually incurred” rules out deductions on expenditure and losses that are uncertain or may arise in the future.
· Estimates of contingent liability are not expenditure actually incurred.
PE Electric Tramway- refer to class notes
Golden Dumps
Edgars Stores (only know class notes)
Taxpayer was Edgars- had retail business and leased premises from various lessors.  All of its lease agreements provided for a normal rental and turn-over rental. The TO rental was based on the annual TO a store made for a period of 12 months.  If TO rental was less than the basic rental, then that year, they did not have to pay the basic rental.
Edgars wanted to deduct the TO rental , did not want to do this in the year that they paid the TO rental, but in the year that they felt that this liability arose.  Amount that they claimed was an estimate.  They couldn’t determine for certain beforehand what this amount would be.
Issue before the court: it was common cause that this TO rental was deductable; the question was however, at what time was it actually incurred.  Court said that the lease agreements created a contingent liability which could only be determined at the end of the lease period.  They couldn’t beforehand, they had to wait for the end of the lease period when that liability became certain.

Nationale Pers Bpk (only know class notes)
Employment relationship and taxpayer company made provision for an annual bonus which would equal one month’s salary.  Taxpayers YOA ended 31 March and he wanted to claim something he called “bonuses due to ee’s” ito s11(a).  Based this calculation on bonuses that had to be paid to the EEs in Sept of that year, claimed bonuses as a deduction in March.  SARS disallowed deduction and the question before the court was whether these bonuses were actually incurred during the year of assessment.
Held: court disallowed deduction and said that they taxpayers obligation to pay was subject to the condition that the EEs did not leave their employment.  Actual amount of the bonuses that the taxpayer had to pay was uncertain and therefore they were not actually incurred in YOA.
Caltex Oil
Taxpayer had a business in SA and he was the distributor and manufacturer of petroleum products.  He incurred liabilities to 2 companies- the one was Caltex UK Ltd and the other one was Caltex Services Ltd.  Both of these companies were located in the UK so the taxpayer was obliged to pay them in Sterling.  Then the Sterling was devaluated in Nov 1967 and the taxpayer paid one of the companies after that date but he did not pay the other company.  The taxpayer wanted to deduct both amounts.
The court agreed to the deduction of the amount already paid- that debt was incurred in Sterling and the taxpayer could claim the expenditure actually incurred in Rands.  However, they did not allow the taxpayer to claim the other amount in Sterling.  They said that this debt was not incurred in the year that devaluation took place (1967).  This deductable amount was incurred during that period of devaluation.
READ CASE- LOOK AT WHAT COURT SAYS ABOUT “ACTUALLY INCURRED”

Incurred during the YOA
· Your deductable expenditure cannot be carried forward to a subsequent year, neither can it be carried back to a previous year.
· Expenditure actually incurred during the YOA must be brought into account and qualified at the end of that YOA.
Concentra (class notes sufficient)
Taxpayer authorised the payments of director’s fees in a specific YOA (2001) but this fee was only paid out to directors in 2002 and the taxpayer wanted to claim a deduction for this director’s fee in 2002.
Court disallowed deduction and said you’re not allowed to carry forward expenditure, you should’ve claimed the expense when it was actually incurred in 2001 (e.g. of how strict the courts are about how the expenditure must be incurred during the YOA).
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· 11(a), you will be able to deduct an expense, if that expense was incurred “in the production of income”
· Uncertainty around what “in the production of income” actually means.
· Through case law certain tests have been developed to clarify the situation.

1. PE Electric Tramway 1936
Court developed a two-prong test:
· What is or what was the purpose of the act that gave rise to the expenditure?
· Was the expenditure so closely linked to the act that it can be regarded as being part of the act?
· Ask purpose of act not purpose of expenditure.

2. Joffe 1946

Watermeyer JA: the taxpayer was an engineering company and they erected steel tables, concrete and steel pillars.  One of these pillars fell and killed one of their workmen. The workman’s family (dependant) brought an action against the taxpayer for negligence.

Judgment was given against the taxpayer so they had to pay damages to his family.

Q before Tax Court: whether these damages could be deducted ito s11(a)

Held: No, the damages could not be deducted.
Watermeyer said: must look at purpose for which you incurred the expense.

3. New States Area
Watermeyer JA: the purpose of the expenditure is the test that you must use when you want to determine if something is capital or revenue in nature 
	
· Confused test of “in the production of income” with capital v revenue test

4. Genn 
Some clarity, said must follow PE Electric Tramway i.e. purpose of act, not purpose of expenditure.
5. Nemojin
A taxpayer was a share dealer (company).  Carried out dividends-stripping operations.  Took dormant company and bought all the shares in that company and distributed dividends and profits.  In the course of these operations, they claimed certain deductions.
Held: Must look at 2 things:
1. Purpose for which expense was incurred.
2. What does the expenditure actually affect?
· Confusion against

6. Stellenbosch Farmers Winery
Taxpayer had a trademark for ship sherry.  Their competitors infringed on that trademark so had to incur certain expenses to try and protect their trademark.
Q: Could these expenses be deducted?

· Again the court confused the two test of “in the production of income” and capital v revenue test

7. BP SA
BP was taxpayer and its holding Co was a foreign Co which held 100% shareholding in BP SA.  Round about 1990, taxpayer disposed of certain assets which availed a huge pool of funds and planned to use this money for a huge capital expansion and reimaging (rebranding).  However, its shareholders not happy with idea, they wanted the taxpayer to use these funds to declare a dividend.  Entered into negotiations and decided to declare a dividend of R300 mil.  On the same day the dividend was declared, it took out a loan from its holding Co for R348 mil- a ten-year loan.  The interested that they incurred on this loan was round about R81 mil and the taxpayer wanted to claim the interest as a deduction and the Commissioner disallowed this.

Reason being: you wouldn’t have taken out the loan if it wasn’t for the dividend that you pay. So the loan didn’t enhance ur business, the interest wasn’t paid in the production of income.

Taxpayer said: the two transactions of declaring dividends and obtaining loan was as a result of conflicting interest between taxpayer and its shareholders.  Furthermore, if the deduction was not allowed, they would run into serious financial trouble.  They also said that the fact that the declaration of dividends and the obtaining of the loan took place on the same day is irrelevant.  Said that the Commissioner incorrectly applied the sine quo non test.

Matter 1st went to the Tax Court:
Held: true test is whether loan and dividends were interdependent of one another.
Found that taxpayer was not poorer because he decided to borrow the money, also the holding Co was under no obligation to give the loan to the taxpayer.  Also the timing of these transactions was irrelevant.  The court said that in order to determine the reason the money was borrowed, you look at what those people that control the company were thinking and not at the mindset of the shareholders.

Held: true intention of company was always to expand its operations and therefore the interest was deductable.

Therefore the interest was paid in the “production of income”

On appeal SCA:

1. Determine purpose of expenditure and what the expenditure actually affects.
2. Where a taxpayer’s purpose for borrowing money is to obtain a means of earning income, then interest paid would be an expense “in the production of income”
3. The court said that the Commissioner’s argument was incorrect
4. The court said that you needed to compare the position the taxpayer would’ve been in having declared the dividend and borrowed the money to the position he would’ve been in having declared the dividend but not borrowed the money.
5. It was illogical to conclude that the loan was linked to the declaration of dividends 
6. That the findings of the Tax Court were correct, that it was incurred in the production of income and therefore, they could deduct it.
After 70 from PE Electric and ended with BP you must ask:
1. What is the purpose of the expenditure?
2. What does the expenditure actually affect?
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Test 
Q1.
a. There is not clear authority in our case law we look at where the contract of the sale was concluded and its performance.
b. Place where capital was employed not where contract was concluded Rhodesian Metals Case.  Profit was made by the productive employment of the capital in Rhodesia.
c. Director’s services rendered where headquarters of company is.
d. The real true source of interest is where borrower productively uses money (F).  Look at where money is a made available.
e. Tax payer must receive some form of benefit Ochberg- benefit is not the real test, must ask whether the prize will have value in the hands of a third party.  In Geldenhuys- you need to take it on your own behalf and for your own benefit.  Now follow Ochberg case: benefit not the real test.
Q2. 
Stander goes with Ochberg.
1. General position: if you win a prize, generally you would not be taxed on it- once off winning will generally not be taxed.  
2. Stander case: used subjective test
3. Ochberg: used objective test
4. Brummeria: overruled Stander said subjective approach was wrong, need to follow an objective approach that the presence or absence of benefit is not the true test but rather you must ask whether the taxpayer received money value or something that can be valued.
Q3.
Golden Dumps
Under “actually incurred”.  About disputed claims.  The court said that you can’t claim something if there is an ongoing dispute about that amount.  You can only claim once dispute has been settled.
S82 the onus on the taxpayer to prove that the amount was deductable.
Q4.
Fixed and floating capital
Cases- Natal Estates, Bourkes Estates, George Forrest Timber, Berea West 
Floating capital can be consumed and it is destroyed through use.  Floating capital is of a revenue nature.  It’s a deductable expense e.g. 
Fixed capital usually immovable goods, can’t destroy through use, it is a capital expenditure so no deduction is allowed.  Plantation example.  Lawyer and textbook- textbook capital for anyone else it would be floating.
Q5.
Included in GI and give me a reason
a. Martin is a resident of SA, don’t even look at source, must look at worldwide income
· Sale transaction, revenue in nature and you must include it in your income.
b. Deposit he received: if he kept deposit in trust, would’ve not been included in GI but this is included.
c. Selling furniture- capital in nature.
d. Visits casino, wins R50000- he deposits in Swaziland.  Interest is revenue in nature 
e. Rent= income in nature
GENERAL DEDUCTIONS cont...
· Expense that you are claiming may not be of a capital nature
· No universal test to determine if it was capital or revenue in nature, courts have laid down basic principles/ guidelines:
1. In New States Area: cost of working capital assets generally constitute non-capital expenditure i.e. deductable.
2. Natal Estates: the acquisition costs of a capital asset generally constitutes a capital expense i.e. non-deductable.
3. Courts have made a distinction between fixed and floating capital (refer to class notes Natal Estates, Bourkes Estates, George Forrest Timber, Berea West)
4. Enduring benefit test: Palaborwa Mining SELF STUDY
· You need to ask whether the expenditure was made with a view to bring into existence an asset or advantage that would be for the enduring benefit of the trade.
· Problem with test is that we don’t know how long something must endure before you can see it is a capital asset.
5. Permanent expenditure test or once and for all test.
· Applied where expenditure was not repeated.
· Test no longer in use as it was inconclusive- a non-repetitive expenditure could also be revenue in nature.
1. S23H
· Limits the amount that you may deduct during a particular YoA.

2. Prohibited deductions
CIR v Hickson 1960
Hickson was handicapped and his firm sent him to New York but he couldn’t get around without assistance.  His wife went with him to help.
Q: whether the wife’s expenses were deductable (allowed as deduction).
Court allowed it because they said that he wouldn’t have been able to get around if it wasn’t for her.
CIR v Pick n Pay
Mr. Ackerman was holding a press conference and during the press conference, he decided that it would be good for marketing purposes to announce that he was making a donation to the Urban Foundation.   Tried to deduct this amount as marketing expenditure. But not solely for marketing purposes also to promote his image.
Court said he’s not allowed to do it.  “Cannot change your mind when you change your hat.”
At most, this expense was incurred with a dual purpose
Solar Glass Finance
Taxpayer was a group financing company and it made loans to other companies in that same group.  They didn’t take any security for the loans.  When the loans became irrecoverable, they wanted to claim this amount as a deduction.
The court didn’t allow a deduction.  Said that the loans were made for the benefit of the group and not for trading purposes. 
Court gave 3 examples of whether an expense will be regarded as being for “the purposes of trade”:
1. By stock-in- trade from a friend who is more expensive than other traders.
· Your purpose is still to buy stock-in-trade for purposes of trade so it is deductable.
2. Sale of religious books by a bookshop at a discount will still be incurred for purposes of trade.
3. An African bank is established to serve only the interest of Black commerce still regard as trade.

· If you take a client out for lunch and want to deduct the restaurant bill.
· Will deduct only if it was for marketing purposes- if new client yes, if existing client must qualify (whether to keep him as a client or introducing a new service or product).
· If see old friend and take him for lunch and during lunch discuss business, may not claim the deduction.
· If take your lawyer out for lunch, can only claim deduction if can prove it was the only time he was available.
· Must ask yourself 2 questions when it comes to entertainment expenses
· In which capacity did you invite this person (friend, client)
· Was the expense incurred for the purposes of strengthening your business.

Warner Lambert SA v CSARS
SA taxpayer was a subsidiary of an American company and ito new legislation in SA- Sullivan Code- they had to do certain social responsibility and upliftment programmes. As a subsidiary, the Co in SA also had to undertake these projects.
Question was whether these expenses were incurred for “purposes of trade.”
Court said: yes, subsidiary company didn’t have a choice, they had to undertake these projects if their wanted to retain their subsidiary status.
Therefore was deductable
2.1. Specific instance of prohibited deductions
1. Private or domestic expenditure.
· People who work from home claim home office as expenditure but there are 3 requirements that must be met:
i. The income that you receive must be mainly in the form of commission- basically can’t receive a monthly salary.
ii. You shouldn’t have an office that your employer provided for you.
iii. Alternatively, you must perform most of your work/ services in a qualifying part of the house.
· An academic won’t be able to claim studies must be e.g. independent consultant.
2. To the extent that you are able to recover an expense under any contract of insurance, guarantee, security or indemnity it will not be allowed as a deduction.
3. Any interest penalties, or additional taxes that you must pay will not be allowed as a deduction
4. Any expenses that you incur in the production of exempt income will not be allowed as a deduction
5. Ito s23(k), there is a limitation that has been placed on deductions that labour brokers, personal service companies and personal service trusts are allowed to make.
6. There is a prohibition on the deduction of expenses incurred iro restrain of trade.
7. Prohibition is s23B on claiming double deductions e.g. if an amount qualifies for a deduction under more than one section of the act, you can’t claim it twice, can only deduct it once.
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Chapter 9
1. Intro
1. Apart from the general deductions, are also specific deductions that Act provides for.
1. If amount qualifies under the general deductions and specific deductions you only...
1. S23(b) prohibitin agisnt double decutions
1. Bad debt v doubtful debt
Doubtful debt:
Bad debt: can claim the amount
EXAM: must first est if there’s specific deduction and then general 
	Bad debt
	Doubtful debt

	S11(i): deal with bad debt commits a deduction from your income any amount of debt due to the taxpayer to the extent that it has become debt during that specific YOA.

	S11(j): the commissioner must make an allowance for doubtful debt on an annual basis.  The allowance that is granted must be included in the taxpayer’s income in the following YOA.

	Must be included in current YOA or previous YOA.

	It is not a requirement that the amount must have been included in the taxpayer’s income before a deduction will be allowed.

	Must be due to taxpayer must furnish details about the debt
	The question whether or not a debt is doubtful must be decided when the debt is returned as doubtful and according to the existing circumstances of the debtor

	Debt must be income in nature
	

	Debt must’ve turned bad during that specific YOA- can’t accumulate debt
	

	The question whether or not the debt is bad must be decided at the time it is claimed as a bad debt.
	

	If you are a finance company or a money-lender (it is your business), also allowed to write off debt but it will fall under s11(a): general deductions
	



1. Finance charges 
	Finance charges
	General deduction formula

	11(bB) allows for special deduction under any agreement of acquisition, installation, erection or construction of any machinery, plant, aircraft, implement, utensil, or livestock that you use for purposes of your trade
	Not allowed to claim any deduction for expenditure that is of a capital nature

	This deduction allows you to claim an expenditure of a capital nature.
	No expenditure or loss that is incurred in the specific year may be deducted in any subsequent years.

	The finance charges must be calculated over a period of no more than 12 months extending beyond the YOA.
	

	Finance charges are immediately deductable in the YOA in which it is incurred.
	



1. Legal costs s11(c)
1. Are allowed to claim legal costs as a deduction if it relates to any claim, dispute, or action in law arising in the course of or by reason of your normal business operations.
1. Legal expenses that may qualify
46. Expenses you incur to produce evidence/ expert witnesses
46. Court fees or witness fees
46. Expenses of the sheriff or a messenger of the court
46. Expenses of litigation
1. Requirements to be met before you can claim legal costs:
1. Must be a legal dispute
1. Dispute does not have to have reached the court
1. Legal expense must not be of a capital nature (must be about a capital asset)
1. Legal expense may not have been incurred iro a claim for the payment of damages or compensation if by reason of the nature of the claim, it would count as a deduction under s11(a)
1. Expense may not have been incurred iro a claim made by the taxpayer for the payment to him, of an amount that would not qualify as income.
1. Examples:
You are an accountant and there is a restraint of trade that you are trying to get out of.  This dispute has gone to arbitration and now you want to deduct the expenses that you have incurred. Can you deduct ito s11c?
1. Does it have to be court? No arbitration counts
1. Is it of a capital nature? No
1. Are we dealing with compensation or damages? No, just normal legal adviser expenses
Therefore qualifies as legal costs and you will be able to deduct.
You are a director of a company and the Co has financial difficulties and is subsequently sequestrated, an investigation is launched as to how you directed yourself as director of Co and criminal charges brought against you.  Expense that you will incur to defend yourself against these criminal charges, will they qualify under section ito 11c?
1. Doesn’t matter if it is criminal
1. Does have to do with your business/ operations.
1. Therefore you do qualify
1. Repairs
1. S11(d), can claim for repairs made on property that is occupied for purposes of trade or from which income is receivable e.g. rental property.
52. Repairs are allowed as a deduction, renewals (renovations) are of a capital nature and not allowed as a deduction
1. Repair v improvement
53. ....
53. Improvement or renewal, you create a new asset and because of this, your income earning capacity as increased.
1. Useful principles
1. Courts have said reapir “restoration of subsidiary parts of the whole”, renewal “reconstruction in its entirety.”
1. In the case of repairs, it is not necessary that you use materials that are identical to the ones you previously found in that structure.
e.g. if a steel beam weakened because of rust and you replace it with a concrete beam, it is OK, material mustn’t be identical.  Must look at why you undertook the work in the first place.
- was there a problem with a structure
- did you want to increase earning capacities
You have a rental property, it already has a kitchen but you decide to redo bathroom and kitchen- increasing earning capacity

1. The test is whether this new “asset” has increased your income earning capacity or does the work undertaken merely represent the cost of restoring the asset to its previous state.
1. If an asset is dismantled and re-erected completely, then you’re more than likely dealing with a renewal and not a repair.
1. When you repair the structure for instance, through the replacement of damaged parts, it is not necessary that the materials that you use should be identical to the original materials.
1. Each case must be decided on its own merits.
e.g. you have rental property and the geyser stops working and you need to replace it.  You decide to put in a solar panel geyser.  Repair or renewal?
1. Must look at the intention of the person doing the renewal.
Rhodesian Railway
Specifically deals with distinction btwn repairs and renewal.
Owned a piece of railway and the track had become worn and it was dangerous to use.  They incurred a lot of expense in laying new sleepers and trials fastening them over the existing railway.  Their whole intention was just to get this railway back to the standard that it was in before.
Court recognised that this was a repair.
They didn’t do any improvements on it, wanted to restore it to previous condition.
1. When you have a property that is occupied for purposes of trade or iro of which trade is receivable
1. If buy 2nd hand asset and you repair it before you sell it or use it, you cannot deduct that expense.
0. E.g. 2nd hand car must first use it before you do any work on it.
1. Assessed losses
1. S20: allows you to claim assessed losses but there are two exceptions
2. Won’t be able to claim assessed losses if property put under voluntary or compulsory sequestration
2. The amount that you claim under assessed losses must be reduced by any amount that you receive as a concession or compromise

1. Application of principles 
1. Advanced payments (expenditure incurred): if in production of income and not of a capital nature, will be able to claim it as a deduction.
1. Advertising expenditures: can only claim this expense if you are advertising a business that already exists.
1. Copyright, inventions, patents, trademarks, and know-how
2. When dealing with expenses of dealing with the acquisition of one of those that is of a capital nature and you can’t claim a deduction.
2. But if you’re making payment for use of the above, that is deductable as it is income in nature.
1. Damages and compensation: before you can claim damages and compensation, there must be a link between your business activities and the damages and compensation that is claimed.
3. Courts have said it must be “an undeniable consequence of the business.”
1. Education and business information: EEs going on courses.
4. No general rule, each case is decided on its own merits.
1. Employment and services rendered: generally, all amounts paid by the ER in this regard, will be deductable.
5. Where an ER pays you and amount of money instead of giving you your leave, or notice period, that will be deductable.
5. Also instances where the EE is entitled to compensation if he loses his job or contract is cancelled, that will be deductable.
5. Bursaries that companies give you and say that you must work it back, EE contractually bound as a result of the bursary, is also deductable.
5. ER claims the deduction in all instances.
5. Legal expenses: must be incurred in production of income
1. Fines: not allowed to deduct
1. Goodwill: the amount that you pay obtain goodwill, is of a capital nature.
7. No deduction allowed
7. If intention is to resell goodwill to make profit then it will be of income nature and therefore deductable.
1. Interest: must’ve been inferred in the production of income: must look at purpose of expenditure and closeness of connection between expenditure and income earning operations.
1. Losses: arising out of defect or destruction of trading stock will only be allowed as a deduction to the extent that it is not covered that it is not covered by your insurance policy.
9. Loss or destruction of a fixed asset, will not be allowed as a deduction as it is of a capital nature.
9. Any loss that you suffer as a result of theft or fraud on the part of the MD, you will not be allowed to claim as a deduction but any loss suffered as a result of fraud or theft by subordinate EEs can be claimed as a deduction.
1. Subscription: initial fee will not be deductable but any subsequent payments that you make will be deductable. This only applies to subscription fees that are compulsory for your profession. E.g. law society
1. Entertainment expenses: if intention is to get new business but if only to maintain existing business then you can’t claim as a deduction.

Practical example
1. Stock lost in fire			50, 000
3. If receive something under the insurance policy (e.g. R10k) can only claim R40k under specific deductions.
1. Bad debt				7,000
4. Specific deduction
1. Provision for doubtful debt 		3,000
5. Allowance by commissioner is R2k, can only claim what commissioner allowed and not more, if doesn’t make allowance can claim full amount 
1. Rent (paid)				10, 000
6. Private or rental expenditure for officers
6. Business: can claim it if in production of income
1. Travel expenses			60, 000
7. R30,000 used to buy a factory: can’t claim capital expenditure as a deduction but other travel expenditure can claim as a deduction.
1. Interest on your mortgage	14, 000
8. Private, has nothing to do with you earning income, can’t claim
1. Repairs to private house		12, 000
9. Private expenditure
1. Repairing machinery		20, 000
10. Production of income, therefore can claim
1. Stock taken for personal use	5,000
11. Private, can’t claim
1. Income tax paid			25, 000
12. No, cannot claim a deduction for tax paid.
Q: is it deductable? General or specific?
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Allowances (part of ch 8)
Study the following: 9.3.1, 9.1, 9.7, 15.1, 15.4, 15.2.1, 15.2.2, 16.6.1, 16.6.2, 27.1, 27.3, 27.4, 27.5

0. INTRODUCTION
1. Payments that you make for a capital asset cannot be deducted ito Income Tax, however certain capital assets will qualify for a capital allowance that you will be entitled to write-off
1. For movable assets there are 3 main ones:
i. Wear and tear allowance
ii. Farming and the production of renewable energy allowance
iii. Allowance for manufacturing, hotels, ships, aircraft, and assets used for storage e.g. big containers.
1. Immovable property:
i. Hotel buildings and improvements
ii. Urban developments
iii. Residential buildings
iv. Commercial buildings
v. Low-cost units
vi. Airports
vii. Pipelines 
1. Intellectual property:
i. Registration expense of your IP
ii. The acquisition cost of IP
iii. Scientific and technological research
1. Leases, from a lessee’s perspective
i. Leasehold improvements
ii. Leasehold premiums
1. From OR perspective:
i. Lessor of machinery, plant, aircraft and ships
ii. Special allowance for lessor
We will deal with wear and tear and leases.
2.Special allowance 

11. Wear and tear
1. Regulated by s11(e), this is applicable if the value of any machinery, plant, implement, utensil, or article owned by taxpayer or acquired by him iro instalment sale transaction, which is used by him for purposes of his trade has diminished by reason of wear and tear.
19. Only granted this allowance for ordinary wear and tear, must make a distinction btwn damage and ordinary wear and tear.
1. When can you claim allowance?
20. Up until the date of sale of asset or up to the date it is scrapped and no longer used.
20. The allowance can only be granted for the wear and tear during the current YOA
1. Who can claim?
21. Owner
21. Purchaser
21. Lessor if it is leased under a financial lease agreement.
11. Lease
1. Allowance for leasehold improvements
22. S11(g): you (taxpayer) are granted an allowance for expenditure actually incurred to effect improvements to land or buildings. Provided that there must be an obligation on you to make the improvements (ito agreement).  5 reqs all must be met:
i. Land or buildings must be used or occupied in the production of income.
ii. The allowance that is granted may not exceed the amount stipulated in the lease agreement as the value of the improvements.
iii. If no amount is stipulated in lease agreement, the aggregate may not exceed the fair and reasonable value of improvements.
iv. The allowance is only available to a lessee who is under an obligation to effect the improvements.
v. The lessor is under an obligation to include in his gross income the value of the improvements.
NB: Make sure you’re certain of whom ur dealing with
1. Leasehold premiums: you can rent building for x months, and I want an amount of R20k, once off payment for rental purposes
23. S11(f) regulates this allowance.  There are six items you can get allowance for:
i. Right of use of land or buildings
ii. The right of use of plant or machinery
iii. Right of use of patent, trademark, design, copyright
iv. Right of use of a motion picture film
v. Where taxpayer imparts knowledge
vi. The right of use of a pipeline, transmission line or railway.
NB: all of the above items must be used in the production of income.
1. Lessor of machinery, plant, aircraft or ship
24. 23A limits the allowances available to the lessor of manufacturing machinery, plant, aircraft or ship
1. Lessor’s special allowance
25. S11(h): provides taxpayer with an allowance for amounts included in taxpayer’s gross income under the definition of lease premiums and leasehold improvements.
1. The Commissioner fixes an amount for special allowances on an annual basis
CHAPTER 9

TAXATION OF BUSINESSES
1. PARTNERSHIPS
1.1. Legal status of a partnership
1. Is the same as that of a natural person
1. Def: legal relationship btwn 2 or more ppl who carry on a lawful business towards which each contribute money or labour or anything else with the object of making a profit.
1. Not a separate legal entity

1.2. Partnership & tax liability
1. Income Tax Act does not recognise a Partnership as a distinct taxable entity.
1. The persons carrying on the business in the partnership must complete a joint income tax return iro the business.
1. Each partner is liable for tax in their individual (separate) capacity. 
i. SARS will determine the taxable income of partnership
ii. It then apportions taxable income to the individual partners in accordance with the ration in which they shared profit.

1.3. Property & capital allowance
1. Property of partnership does not belong to partnership as such but rather to individual partners who are co-owners.
1. Any capital allowance that may be granted will again be apportioned btwn the individual partners in accordance with the ratio in which they shared profits
1. Any allowance for bad or doubtful debts will also be apportioned btwn the partners.

1.4. Date of accrual of amounts to individual partners
1. S24H states that an amount will accrue to or be received by individual partners on the same day as the receipt or accrual to the partnership

1.5. Dissolution of partnership
1. If partnership is dissolved during a specific YOA accounts will be drawn up up until the date of dissolution.

2. TRUSTS
Friedman Case
Held:
0. A trust is not a juristic person and therefore not a “person” for purposes of the income tax act.
0. There’s not tax liability for income which has not been distributed.
0. If there is a gap in legislation then it is up to the legislature to fill it.

2.1. Principles
1. A trust pays tax at the rate of 40%
1. The trustee as the representative of the trust must complete the tax returns.
1. Any compensation or fees that the trustee receives for the services he renders must be included in the gross income and will be subject to normal tax.

2.2. S23B
i. Any income received or accrued to and for the immediate or future benefit of a specific beneficiary with a vested right will be deemed to be income that has accrued to the beneficiary
1. If you have a trust and the income that is receive or accrued and there is no specific beneficiary selected, then the trust will pay the tax- general trust.
1. Trustee in his personal capacity will not be taxed whenever he’s acting in his official capacity on behalf of the trust.

3. Close corporations
3.1. Principles
1. Ito Income Tax Act, a CC is taxed as a company it is deemed to be a private Co (therefore not exempt from donation tax).
1. It is taxed at a rate of 28%
1. CC must make provisional tax payments in the same way as a Co.
1. All income is taxed in the hands of the CC in the year it is earned.
1. Profits distributed to the members of the CC will be handled or dealt with in the same way as dividends of a company and therefore it will not be taxed in the hands of the members but in the hands of the CC.
1. CCs are liable for secondary tax on Cos at the rate of 10%
1. A member of a CC are provisional tax payers and any members who perform functions similar to that of directors of a company will be deemed to be directors of the CC for purposes of the ITA.
1. Normal members or ordinary members of the CC are dealt with in the same way as shareholders of the company.

4. Small Business Enterprise
1. Usually these enterprises or businesses will be taxed at the rate of 10% for the first R300, 000 that they make.
1. Anything above that amount they have to pay tax of R24, 580 plus 28% on the amount above R300, 000.

4.1. Who qualifies as SBE? (it can be a CC or pvt Co or partnership)
i. 100% ownership of the business must vest in the members or the shareholders.
ii. All members or shareholders must be natural persons.
iii. The gross income of the business may not exceed R5mil.
iv. No more than 20% of the gross income may be made up of investments
v. No member or shareholder may have any other interest in any other company.

5. Turn over tax (new in 2010)
1. A simplified tax system for small businesses with a turnover of up to R1mil.
1. This type of tax is available to sole proprietors, partnerships, CCs and companies.
1. Turn over tax is a substitute for VAT, provisional tax, income tax, capital gains tax and secondary tax on companies.
1. If your business qualifies it pays 1 tax instead of the 5 different ones
1. It is elective (not compulsory).
1. If you decide to apply for turnover tax (or join the turnover tax system), you must use it for at least 3 years or until you are disqualified.
58. Anybody who’s disqualified will not be allowed to use it for a period of 3 years.
5.1. How does it work?
1. It’s levied on an annual basis from March- Feb.
1. For first R100, 000, you will not pay any tax 
1. R100-R300k= 1% of each Rand above R100k.
1. R300-500k: R2000 and 3% of anything above R300k.
1. R500-750k: R8,000 plus 5% of every Rand above R500k.
1. R750-1mil: R20, 500 plus 7% of every Rand above R750k.

5.2. Who will qualify?
1. Businesses earning less than R1mil which is not a professional services Co.
65. Def: lawyers, accountants, architects, auditors, brokers.
1. All the persons involved in the business must be natural persons
1. The business may not be a public benefit org or a recreational club.
1. Financial year of business must go from March-Feb of the following year.
1. None of the members of the business may have any interest of shares in other Cos or CCs.
1. You may not be a labour broker or personal service provider.
70. Co or trust that renders services to a person that you have a close connection with e.g. relative, beneficiary etc.
1. Business may not have/ receive more than 10% investment income.

5.3. Procedures
1. Apply to SARS
1. If new business have 2 months to join
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